Procedure: My Responses:
What is the Problem?

Break the Problem into Parts:
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Possible Solution # 1

Advantage:

Disadvantage:

3k 3k 3k 3k ok 3k ok 3k sk 3k 3k 3k 3k 3k 3k 3k 3k ok 3k 3k 3k 3k 3k 3k ok 3k 3k 3k %k 3%k 3k 3k ok 3%k %k k %k *k

Possible Solution # 2

Advantage:

Disadvantage:

3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k ok 5k %k ok 3k 5k 3k 3k 3k ok ok ok ok 3k 5k ok %k ok ok ok %k %k k %k ok

Possible Solution # 3

Advantage:

Disadvantage:
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Solution #1

Solution # 2

Solution # 3

How did the solution work?

What changes could be made to the solution to improve it?
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